Revenue Recognition
Indicate which of the following events immediately gives rise to the recognition of revenue under the accrual basis of accounting.

1. The receipt of an order by Motorola from Sears for televisions.

2. The shipment by Time Magazine of magazines that subscribers paid for in advance.

3. The sale of tickets (and receipt of cash) by the New York Mets for a ball game in July.

4. The same as part 3, except the sale is made by Ticketmaster, a ticket agent.

5. The earning of interest by Motorola for a government bond.  Assume that the firm does not receive the interest payment until three months from now.

6. The receipt of cash by Bloomingdales for sales made last month.

More Difficult Thought Question
A license agreement in the record industry is a contractual arrangement entered into by an owner (licensor) of a music copyright with a licensee.  The agreement grants the licensee the right to sell or distribute records or music for a fixed fee paid to the licensor or for a fee based on sales of records or music.  Suppose a fee of $10 million is to be paid over time to the licensor.  Under what conditions would this transaction be recognized as an outright sale (all $10 million is recognized today)?  Under what conditions would this transaction be recognized over time (the $10 million is recognized over time)?

For further information on financial reporting in the record and music industry, see SFAS50.

Revenue Recognition
1. No revenue

2. Revenue (It was previously unearned revenue or advances from customers)

3. Revenue earned for the full ticket price by the New York Mets

4. Revenue earned for the commission by Ticketmaster.  (The rest of the cash flow becomes a payable [for the tickets] to the New York Mets.)

5. Interest revenue is earned irrespective of (the lack of) payment.

6. No revenue. Revenue reported last month.  This is the payment of a receivable.

D.
The flat fee arrangement leads to revenue now.  A system based on sales will lead to revenue only as the sales are realized.

